Pedigree Woiksheet EEY KEY KEY KEY KEY KEY

Interpreting a Human Pedigree
ke the pedigree below to answer1-5

II

III

cmome o

1.Ina pedigree, a square representsa male. KFitis darke ned he has he mophilia;ifclear, he had nommalblood
clotting.

a. How many malesare theme? 8

b. How many male s have hemophilia? 3
2. Acircle representsa female. Kit isdarke ned, she has he mophilia; f open she isnommal

a. How many female are thewre ? 8

b. How many females have he mophilia? 2
3. Amamiage isindicated by a horizontalline connecting a circle to a square.

a. How many mamagesare there? 3
4. A line perpendicularto a mamiage line indic ates the offspring. If the line ends with eithera circle ora square,
the couple had only one child. However, if the line isconnected to anotherhonzontalline, then severalchidren
were produced, each indicated by a short verticalline connected to the hornzontal line. The first c hild bom
appearsto the left and the lastbom to the nght.

a. How many childre n did the first couple (couple in ow D have 2 2

b. How many c hildre n did the thid couple (couple in ow Il have 2 7
5.Ievellrepresent the fist generation, levelllre presents the second generation.

a. How many genemtionsare there? 4

b. How many membersare there in the fourth genermtion? 7

ke the pedigree below to answer6-12
Shaded individuals have Huntington’s Dise ase
Tt

Tt

Individuals are numbered foreach generationn right to le fi...they are de noted with the irge ne ration and the ir
number. See #7 forexample.

6. Write the generation on the pedigree numbers (roman numerals).
7. Which membersofthe family above are afflicted with Huntington’s Disease? F1, IF2, IF3, IF7, IF3
8. There are no camers for Huntington’s Disease- you eitherhave itoryoudon’™t.

‘With this in mind , is Huntington’s disease caused by a dominantorrecessive trait? dominant
9. How many children did individuals F1 and E2 have? 6
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